

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

Procurement Jenifer G. Chapital Technician:

to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
1	Dynarex™ Band-Aids, Plastic, 1" x 3" (100/BX, 12 BX/CS) Brand: DYNAREX CORPORATION 1200/CS @ \$24.00 Product Number: BTM #083602	6 Cases	Each	\$24.00	\$144.00	\$10.80	\$64.80
2	Curaplex® Adhesive Tape, Silk Cloth Surgical 1" x 10 YDS Brand: CURAPLEX BY BOUND TREE 144/CS @ \$99.36 Product Number: BTM #1110-14007	4 Cases	Each	\$99.36	\$397.44	\$96.24	\$384.96
3	Curaplex® Adhesive Tape, Silk Cloth Surgical 2" x 10 YDS Brand: CURAPLEX BY BOUND TREE 72/CS @ \$99.36 Product Number: BTM #1110-14008	4 Cases	Each	\$99.36	\$397.44	\$96.24	\$384.96
4	Tegaderm™ Transparent Film Dressing 2 3/8" x 2 3/4" Frame Style (20 BX, 10BX/CS) Brand: CURAPLEX BY BOUND TREE 200/CS @ \$42.00 Product Number: BTM #1830-12113	10 Cases	Each	\$42.00	\$420.00	\$188.80	\$1,880.00
5	Curaplex® Int Caps Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1812-02001	2000	Each	\$0.80	\$1,600.00	\$0.67	\$1,340.00
6	Curaplex® Tourniquets, IV Latex Free 18" x 1" Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1841-14000	2000	Each	\$0.80	\$160.00	\$0.064	\$128.00
	All IV Catheters are	to be Protective Plus	or Curaplex (Clearsafe (No Excepti	ons)		
7	14 GA IV Catheter (14 GA x 1 1/4") 50/Box Brand: CURAPLEX BY BOUND TREE 50/Box Product Number:BTM #1612-84110	10 Boxes	Each	\$79.00	\$790.00	\$65.55	\$655.50
8	16 GA IV Catheter (16 GA x 1 1/4") 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1612-84120	10 Boxes	Each	\$79.00	\$790.00	\$65.55	\$655.50



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
9	18 GA IV Catheter (18 GA x 1 1/4") 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1612-84130	12 Boxes	Each	\$79.00	\$948.00	\$65.55	\$786.60
10	20 GA IV Catheter (20 GA x 1 1/4") 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1612-84140	12 Boxes	Each	\$79.00	\$948.00	\$65.55	\$786.60
11	22 GA IV Catheter (14 GA x 1") 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1612-84150	10 Boxes	Each	\$79.00	\$790.00	\$65.55	\$655.50
12	24 GA IV Catheter (14 GA x 3/4") 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1612-84160	10 Boxes	Each	\$79.00	\$790.00	\$65.55	\$655.50
13	Exel International® Syringe 1 CC 100/Box Brand: EXEL INTERNATIONAL, INC. Product Number: BTM #620048	4 Boxes	Each	\$10.00	\$40.00	10.98	\$43.92
14	Exel International® Syringe 5 CC 100/Box Brand: B. BRAUN MEDICAL, INC. Product Number: BTM #1633-05305	4 Boxes	Each	\$10.00	\$40.00	\$5.37	\$21.48
15	Exel International® Syringe 10 CC 100/Box Brand: EXEL INTERNATIONAL, INC. Product Number: BTM #1633-26510	4 Boxes	Each	\$13.00	\$52.00	\$5.37	\$21.48
16	Exel International® Syringe 60 CC 25/Box Brand: EXEL INTERNATIONAL, INC. Product Number: BTM #620300	6 Boxes	Each	\$16.00	\$96.00	\$8.50	\$51.00



Item

17

18

19

20

21

22

23

24

DEPARTMENT OF PURCHASING AND CONTRACTING

Each

Each

Each

Each

Each

Each

Each

Each

Due Date

\$60.00

\$1.00

\$64.00

\$184.00

\$88.80

\$9.60

\$84.00

NO BID

\$15.00

\$0.02

\$32.00

\$1.84

\$44.40

\$1.92

\$7.00

NO BID

7/23/2020

\$14.28

\$14.28

\$0.03

17.05

\$3.75

\$84.00

\$103.32

\$4.25

Total Amount

\$57.12

\$57.12

\$1.50

\$34.10

\$375.00

\$168.00

\$516.60

ITB No. 20-101261 **BID TABULATION Price Opening** 8/13/2020

ITB Name:

Needle 22GA x .625" (Safety Glide) 50/Box No Exception

Cardinal Health Filter Needle (Blunt Fill Needle) 18GA x 1 1/2" 100/

Glucometer Strips (Assure Prism Multi) 12/Case No Exception

Needle 22GA x 1.5" (Safety Glide) 50/Box

No Exception

Product Number:

Case No Exception

Brand: ARKRAY

Tubex Syringe

Brand:

Brand: BECTON DICKINSON Product Number: BTM #C012350

Brand: PFIZER INC. (HOSPIRA)

Product Number: BTM #D250

Brand: CARDINAL HEALTH Product Number: BTM #625117 Cardinal Health Sharps Safe 1 Quart

Brand: CARDINAL HEALTH

Product Number: BTM #298900

Brand: CURAPLEX BY BOUND TREE

Product Number: BTM #1860-08704

Product Number: BTM #2763-53050

Brand: CURAPLEX BY BOUND TREE

Product Number: BTM #2764-70721

Curaplex® Lancets 100/Box No Exception

Cardinal Health Sharps Safe 8.2 Quart 12/Case

ie:	to Renew)				Procurement Technician:	Jenifer G. Chapital	
	Company			Bound Tree	e Medical	Henry	Schen
1	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total

4 Boxes

4 Boxes

50

2 Cases

100

2 Cases

5 Cases

12 Boxes



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
25	Curaplex® Alcohol Prep Pads 2000/Case No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #1330-85300	1 Case	Each	\$20.00	\$20.00	\$9.60	\$9.60
		Airway / Oxygen D	elivery Suppl	ies			
26	Curaplex® Nasal Cannula 50/Case No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #30050	25 Boxes	Each	\$10.00	\$250.00	\$14.25	\$356.25
27	Curaplex® Non-Rebreather Mask (Adult) 50/Case No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #30052	15 Cases	Each	\$27.50	\$412.50	\$33.00	\$495.00
28	Curaplex® Non-Rebreather Mask (Pedi) 50/Case No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #533-MS-25058EA	8 Cases	Each	\$27.50	\$220.00	\$39.00	\$312.00
29	Curaplex® Non-Rebreather Mask (Infant) 50/Case No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #30058	5 Cases	Each	\$36.00	\$180.00	\$54.00	\$270.00
30	Curaplex® Nebulizer Kit (w/multi-adapter 15mm connection, sm volume nebulizer w/T-piece, flex tube 7ft, and elbow adapter connection) 50/Case Brand: CURAPLEX BY BOUND TREE Product Number: BTM #812-BVMNEBKIT	4 Cases	Each	\$130.00	\$520.00	\$165.50	\$662.00
31	Curaplex® Nebulizer Mask Only (Adult) 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #30557	3 Cases	Each	\$32.50	\$97.50	\$38.00	\$114.00



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

Procurement Jenifer G. Chapital Technician:

to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
32	Curaplex® Nebulizer Mask Only (Pedi) 50/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #305576	3 Cases	Each	\$32.50	\$97.50	\$28.00	\$84.00
33	EKG Paper LifePak 15 Brand: CURAPLEX BY BOUND TREE Product Number: BTM #2745-10108	20 Cases	Each	\$85.80	\$1,716.00	\$154.00	\$3,080.00
34	Curaplex® ET Tubes (3.0 - 6.0) 10/Box Brand: CURAPLEX BY BOUND TREE Product Number: *See attached item list for various sizes	15 Boxes	Each	\$7.00	\$105.00	\$5.50	\$82.50
35	Curaplex® ET Tubes (7.0 - 9.0) 10/Box Brand: CURAPLEX BY BOUND TREE Product Number: *See attached item list for various sizees	20 Boxes	Each	\$7.00	\$140.00	\$7.40	\$148.00
36	Curaplex® Stylets (Adult) 20/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #12998	15 Boxes	Each	\$18.80	\$282.00	\$26.60	\$399.00
37	Curaplex® Stylets (Infant) 20/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #12996	5 Boxes	Each	\$18.80	\$94.00	\$26.60	\$133.00
38	Laerdal Thomas ET Tube Restraint Brand: LAERDAL MEDICL CORP. Product Number: BTM #020500	300	Each	\$2.84	\$852.00	\$2.64	\$792.00
39	Intersurgical I GEL #3 30-60 KG 6/Case No Exception Brand: INTERSURGICAL INCORPORATED Product Number: BTM #2114-08203	10 Cases	Each	\$87.00	\$870.00	\$148.44	\$1,484.40



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

Procurement Jenifer G. Chapital Technician:

to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
40	Intersurgical I GEL #4 50-90 KG 6/Case No Exception Brand: INTERSURGICAL INCORPORATED Product Number: BTM #2114-08204	14 Cases	Each	\$87.00	\$1,218.00	\$148.44	\$2,078.16
41	Intersurgical I GEL #5 90+ KG 6/Case No Exception Brand: INTERSURGICAL INCORPORATED Product Number: BTM #2114-08205	14 Cases	Each	\$87.00	\$1,218.00	\$148.44	\$2,078.16
42	Curaplex® Miller Blade Sizes (0, 1, 2, 3) Brand: CURAPLEX BY BOUND TREE Product Number: *See attached item list for various sizes	50	Each	\$4.20	\$210.00	\$3.22	\$161.00
43	Curaplex® Mac Blade Sizes (2, 3, 4) Brand: CURAPLEX BY BOUND TREE Product Number: *See attached item list for various sizes	50	Each	\$4.20	\$210.00	\$3.22	\$161.00
44	KY Jelly Lubricant Brand: NICE-PAK Product Number: BTM #440128	300	Each	\$0.07	\$21.00	\$0.035	\$10.50
45	Curaplex® OPA (40mm, 60mm, 80mm, 90mm, 100mm, 110mm) Brand: CURAPLEX BY BOUND TREE Product Number: *See attached item list for various sizes	30	Each	\$0.15	\$4.50	\$0.16	\$4.80
46	Curaplex® NPA 24FR 10/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #2021-14660	4 Boxes	Each	\$15.70	\$62.80	\$15.10	\$60.40
47	Curaplex® NPA 30FR 10/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #2021-14675	4 Boxes	Each	\$15.70	\$62.80	\$15.10	\$60.40



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
	Curaplex® NPA 32FR 10/Box Brand: CURAPLEX BY BOUND TREE Product Number: BTM #2021-14680	4 Boxes	Each	\$15.70	\$62.80	\$15.10	\$60.40
	Ambu® BVM (Adult) 12/Case No Exception Brand: AMBU Product Number: BTM #2442-52002	8 Cases	Each	\$97.68	\$781.44	\$109.92	\$879.36
	Ambu® BVM (Pedi) 12/Case No Exception Brand: AMBU Product Number: BTM #530-213	4 Cases	Each	\$97.68	\$390.72	\$139.92	\$559.68
	Ambu® BVM (Neonate) 12/Case No Exception Brand: AMBU Product Number: BTM #BLS-540-211	3 Cases	Each	\$97.68	\$293.04	\$139.92	\$419.76
	Flow Safe II CPAP w/ straight swivel port, head harness (Small) Brand: BLS SYSTEM LIMITED Product Number: BTM #BLS-8710M	2 Cases	Each	\$634.50	\$1,269.00	\$203.95	\$407.90
53	Flow Safe II CPAP w/ straight swivel port, head harness (Large) Brand: BLS SYSTEM LIMITED Product Number: BTM #BLS-8700	2 Cases	Each	\$195.30	\$390.60	\$203.95	\$407.90
	Cannula, Nasa Hi Flow w/4 ft Tubing (25/Case) Saltib Brand: SALTER LABS, INC. Product Number: BTM #77-1600HF-25	16 Cases	Each	\$69.50	\$1,112.00	\$18.20	\$291.20



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
55	Humidifier, Pf Str Wtr 500 ml (12/Case) Carfus Brand: VYAIRE MEDICAL Product Number: BTM #022520	4 Cases	Each	\$20.40	\$81.60	\$40.80	\$163.20
		Personal Protect	ive Equipmen	t			
56	Hudson RCI Humid Vent Filter Compact Straight 25/Box Brand: VENTLAB CORPORATION Product Number: BTM #87-FH6030005EA	20 Boxes	Each	\$44.75	\$895.00	\$98.86	\$1,977.20
57	Medical Gloves (S) Microflex (Nitrile Supreno Gloves) 10 Box/Case No Exception Brand: ANSELL HEALTHCARE PRODUCTS LLC 1000/CS Product Number: BTM #290690	35 Cases	Each	\$103.50	\$3,622.50	\$105.30	\$3,685.50
58	Medical Gloves (M) Microflex (Nitrile Supreno Gloves)10 Box/Case No Exception Brand: ANSELL HEALTHCARE PRODUCTS LLC 1000/CS Product Number: BTM #290691	70 Cases	Each	\$103.50	\$7,245.00	\$105.30	\$7,371.00
59	Medical Gloves (LG) Microflex (Nitrile Supreno Gloves) 10 Box/Case No Exception Brand: ANSELL HEALTHCARE PRODUCTS LLC 1000/CS Product Number: BTM #290692	110 Cases	Each	\$103.50	\$11,385.00	\$105.30	\$11,583.00
60	Medical Gloves (XLG) Microflex (Nitrile Supreno Gloves) 10 Box/Case No Exception Brand: ANSELL HEALTHCARE PRODUCTS LLC 1000/CS Product Number: BTM #290693	70 Cases	Each	\$103.50	\$7,245.00	\$105.30	\$7,371.00



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
61	Medical Gloves (2XLG) Microflex (Nitrile Supreno Gloves) 10 Box /Case No Exception Brand: ANSELL HEALTHCARE PRODUCTS LLC 500/CS Product Number: BTM #R4388	30 Cases	Each	\$93.00	\$2,790.00	\$89.50	\$2,685.00
62	Medline Isolation Gown Brand: DYNAREX CORPORATION Product Number: BTM #F6051	100	Each	\$0.61	\$61.00	NO BID	NO BID
63	N95 Mask Brand: 3M HEALTH CARE Product Number: BTM #R5096	200	Each	\$1.02	\$204.00	\$0.85	\$170.00
64	Safetec Hand Sanitizing Gel 4 oz. bottles 24/Case Brand: SAFETEC Product Number: BTM #R3119	8 Cases	Each	\$41.52	\$332.16	NO BID	NO BID
65	Nice Pak Sani Cloth Wipes (Large) 5" x 6.75" 12 Tubs/Case Brand: NICE-PAK 1920/CS Product Number: BTM #297272	20 Cases	Each	\$67.20	\$1,344.00	\$57.36	\$1,147.20
66	BioHazard Bags (Red) Sizes 7 to 10 Gallon Capacity Brand: MEDEGEN MEDICAL PRODUCTS Product Number: BTM #290116	500	Each	\$0.08	\$40.00	\$0.1004	\$50.20
		Spinal Immobiliza	tion Equipme	nt			
67	C-Collar (Adult) Adjustable Collars - Laerdal Brand 50/Case No Exception Brand: LAERDAL MEDICAL CORP. Product Number: BTM #260204	4 Cases	Each	\$257.50	\$1,030.00	\$254.50	\$1,018.00



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

Procurement Jenifer G. Chapital Technician: to Renew) **Bound Tree Medical** Company **Henry Schen**

Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
68	C-Collar (Pedi) Adjustable Collars - Laerdal Brand 50/Case No Exception Brand: LAERDAL MEDICAL CORP. Product Number: BTM #260202	2 Cases	Each	\$265.00	\$530.00	\$254.50	\$509.00
69	Sta-Blok Adjustable Head Immobilizer Brand: LAERDAL MEDICAL CORP. 30/CS Product Number: BTM #260975	3 Cases	Each	\$117.30	\$351.90	\$109.80	\$329.40
70	DMS Back Board Straps (Model # 11162BK, Nylon Webbing, 6 Ft. Length, 2.5 In. Width, metal buckle) Brand: DMS Product Number: BTM #B0124	75	Each	\$1.71	\$128.25	\$6.11	\$458.25
		Trauma and	Soft Goods				
71	Medsource International Speed Splints 60/Case Brand: MEDSOURCE INTERNATIONAL Product Number: BTM #533-MS-SPLINT	1 Case	Each	\$246.00	\$246.00	\$180.00	\$180.00
72	Curaplex® Non-Woven Non-Sterile (200 per pack 4 ply) 4 x 4 Curaplex 10/bag/case Brand: CURAPLEX BY BOUND TREE 2000/CS Product Number: BTM #1212-12108	6 Cases	Each	\$ 20.00	\$120.00	\$19.10	\$11.46
73	Curaplex® Sterile (100 per box 12 ply) 4 x 4 12 box/case Brand: CURAPLEX BY BOUND TREE 1200/CS Product Number: BTM #1212-12102	6 Cases	Each	\$60.00	\$360.00	\$53.40	\$320.40



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name: to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
74	Dukal Corp. Multi Trauma Dressing 10" x 30" 50/Case Brand: DUKAL CORP. Product Number: BTM #1211-03020	5 Cases	Each	\$40.50	\$202.50	\$35.50	\$177.50
75	Dynarex™ Stretch Gauze Bandage (individually wrapped) 3" Brand: DYNAREX CORPORATION 96/CS Product Number: BTM #279-3113EA	2 Cases	Each	\$23.04	\$46.08	\$19.52	\$39.04
76	Dynarex™ Stretch Gauze Bandage (individually wrapped) 6" Brand: DYNAREX CORPORATION 48/CS Product Number: BTM #279-3116BG	2 Cases	Each	\$25.44	\$50.88	\$22.24	44.48
77	ADI Medical Ace Bandage 4" Brand: ADI MEDICAL 50/CS Product Number: BTM #080504	2 Cases	Each	\$22.50	\$45.00	\$25.25	\$50.50
78	ADI Medical Ace Bandage 6" Brand: ADI MEDICAL 50/CS Product Number: BTM #080506	2 Cases	Each	\$36.00	\$72.00	\$33.35	\$66.70
79	Burn Sheet Rohampton 60" x 96" 24/Case No Exception Brand: ROEHAMPTON Product Number: BTM #666090	3 Cases	Each	\$101.76	\$305.28	\$39.84	\$119.52
80	Curity Vaseline Gauze Brand: CARDINAL HEALTH Product Number: BTM #150066K1	100	Each	\$0.68	\$68.00	\$0.49	\$49.00



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree Medical		Henry Schen	
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
81	HyFin Chest Seal Brand: NORTH AMERICAN RESCUE PRODUCTS Product Number: BTM #NAR 10-0015	5 Boxes	Each	\$9.20	\$46.00	\$11.44	\$57.20
82	Bemis Suction Cannister (800 ml) Brand: BEMIS MANUFACTURING COMPANY Product Number: BTM #592041	30	Each	\$2.78	\$83.40	\$1.71	51.3
83	Curaplex® Suction Tubing 1/4" x 6" 50/Case Brand: CURAPLEX BY BOUND TREE Product Number: BTM #16106	1 Case	Each	\$44.50	\$44.50	\$28.89	\$28.89
84	Curaplex® Suction Catheter 5-6FR Brand: CURAPLEX BY BOUND TREE Product Number: BTM #36090	40	Each	\$0.10	\$4.00	\$0.17	\$6.80
85	Curaplex® Suction Catheter 10FR Brand: CURAPLEX BY BOUND TREE Product Number: BTM #36092	40	Each	\$0.10	\$4.00	\$0.17	\$6.80
86	Curaplex® Suction Catheter 18FR Brand: CURAPLEX BY BOUND TREE Product Number: BTM #36096	40	Each	\$0.10	\$4.00	\$0.17	\$6.80
87	Curaplex® OB Kit Brand: CURAPLEX BY BOUND TREE Product Number: BTM #4440010-B	80	Each	\$6.80	\$544.00	\$4.71	\$376.80
88	Curaplex® Bulb Syringe Brand: BUSSE HOSPITAL DISPOSABLES Product Number: BTM #590031	50	Each	\$0.78	\$39.00	\$0.62	\$31.00



92

93

94

95

96

DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

ITB No. 20-101261 **BID TABULATION Price Opening** 8/13/2020

Procurement Jenifer G. Chapital **Emergency Medical Supplies (Annual Contract with 2 Options** ITB Name: Technician: to Renew) **Bound Tree Medical Henry Schen** Company **Estimated** Description **Unit Price Total Amount Total Amount** Item Unit **Unit Price** Quantity Curaplex® Silver Swadler \$ 0.44 22.00 \$1.94 89 **Brand: CURAPLEX BY BOUND TREE** 50 Each Product Number: BTM #12945 Curaplex® Baby Cap / Hat 90 Brand: MEDLINE INDUSTRIES, INC. 50 Each \$0.43 \$21.50 \$0.54 Product Number: BTM #18509 Curaplex® Hot Packs No Exception \$24.00 91 **Brand: CURAPLEX BY BOUND TREE** 100 Each \$0.24 \$0.52 Product Number: BTM #1432-56000 Curaplex® Cold Packs No Exception

\$97.00

\$27.00

\$52.00



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
97	Electrodes (Blue Sensor) Ambu Blue Sensor ECG Electrodes Ref SP-00- S/10 Brand: AMBU Product Number: BTM #230005	2000	Each	\$0.19	\$378.00	\$0.22	\$440.00
98	Curaplex® BP Cuff (Pedi) No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #36011	80	Each	\$5.50	\$440.00	\$6.12	\$489.60
99	Curaplex® BP Cuff (Adult) No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #36012	100	Each	\$5.50	\$550.00	\$6.12	\$612.00
100	Curaplex® BP Cuff (LG Adult) No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #36013	60	Each	\$5.60	\$336.00	\$6.81	\$408.60
101	Adscope Stethoscope No Exception Brand: AMERICAN DIAGNOSTIC CORP. Product Number: BTM #2621-60801	50	Each	\$46.15	\$2,307.50	\$6.85	\$342.50
102	Curaplex® Laryngoscope Handle (Stainless Steel Non-Disposable) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #35011	15	Each	\$8.60	\$129.00	\$30.00	\$450.00
103	Curaplex® Ring Cutter Brand: CURAPLEX BY BOUND TREE Product Number: BTM #61511	10	Each	\$4.40	\$44.00	\$3.76	\$37.60



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

Procurement Jenifer G. Chapital Technician:

to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
104	Arrow EZ-IO Vascular Access Power Driver "Or Approved Equal" Brand: Product Number:	20	Each	\$0.00	NO BID	\$134.14	\$2,682.80
105	EZ-Stabilizer Dressing 5/Box "Or Approved Equal" Brand: Product Number:	10 Boxes	Each	\$0.00	NO BID	\$112.55	\$1,125.50
106	NIO Intraosseous Device, 15ga Adult (12/Box) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #670144-KIT	3 Boxes	Each	\$1,056.00	\$3,168.00	NO BID	NO BID
107	NIO Intraosseous Device, 18ga Pediatric (12/Box) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #670143-KIT	3 Boxes	Each	\$1,056.00	\$3,168.00	NO BID	NO BID
108	Airtraq Laryngoscope Blade #1 Pediatric (2/Box) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #2145-13401	30 Boxes	Each	\$8.40	\$252.00	NO BID	NO BID
109	Airtraq Laryngoscope Blade # 2 Adult (2/Box) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #2145-13402	100 Boxes	Each	\$8.40	\$840.00	NO BID	NO BID
110	Quik Clot EMS Rolled Hemostatic Gauze 3 x 4 Brand: Z-MEDICA LLC Product Number: BTM #1214-00572	100	Each	\$16.00	\$160000	\$14.77	\$1,477.00



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
111	North American Rescue ARS 10 gauge 3.25 " needle Brand: NORTH AMERICAN RESCUE PRODUCTS Product Number: BTM #661209	100	Each	\$15.30	\$1,530.00	13.5	\$1,350.00
112	Braun Introcan Safety IV Needle 14 gauge x 2 " Brand: B. BRAUN MEDICAL, INC. Product Number: BTM #C884315	100	Each	\$1.81	\$181.00	\$1.61	\$161.00
113	Bougie-To-Go w/ coude tip 15 french x 60 cm Brand:SUN MED Product Number: BTM #2120-21282	100	Each	\$4.35	\$435.00	\$3.72	\$372.00
114	Intersurgical IGEL # 2 (10/case) Brand: INTERSURGICAL INCORPORATED Product Number: BTM #2114-08202	5 Cases	Each	\$145.00	\$725.00	\$148.40	\$742.00
115	Graham Mega Mover 1500 (10/case) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #3246-12345	5 Cases	Each	\$119.50	\$597.50	\$123.60	\$618.00
116	Curaplex® Trauma Shears 7.5" No Exception Brand: CURAPLEX BY BOUND TREE Product Number: BTM #68014	50	Each	\$0.65	\$32.50	\$0.62	\$31.00
117	Curaplex® Magill Forcep (Pedi) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #61436	50	Each	\$3.95	\$197.50	\$3.41	\$170.50
118	Curaplex® Magill Forcep (Adult) Brand: CURAPLEX BY BOUND TREE Product Number: BTM #61435	50	Each	\$3.95	\$197.50	\$3.50	\$175.00



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
119	Center Punch Brand: E.M.I. Product Number: BTM #2522-01618	50	Each	\$5.53	\$276.50	\$4.99	\$249.50
120	Breathsaver O2 Bag (Iron Duck) No Exception Brand: IRON DUCK INC. Product Number: BTM #2522-01618	30	Each	155.45	\$4,663.50	\$216.46	\$6,493.80
121	Iron Duck Medical Jumb Bag No Exception Brand: IRON DUCK INC. Product Number: BTM #2522-01607	40	Each	\$153.00	\$6,120.00	\$126.68	\$5,067.20
122	Laerdel Thomas Pediatric ET Tube Holder No Exception Brand: LAERDAL MEDICAL CORP. Product Number: BTM #020400	25	Each	\$2.90	\$72.50	\$2.64	\$66.00
123	Amsino Amsafe-3 10 GTTS Drip Set 50/Case No Exception Brand: AMSINO INTERNATIONAL INC. Product Number: BTM #D38301	20 Cases	Each	\$188.00	\$3,760.00	\$63.00	\$1,260.00
124	Amsino Amsafe-3 60 GTTD Drip Set 50/Case No Exception Brand: AMSINO INTERNATIONAL INC. Product Number: BTM #D38301	25 Cases	Each	\$188.00	\$4,700.00	\$76.50	\$1,912.50
125	Arrow IO Needles Yellow "Or Approved Equal" Brand: Product Number:	100	Each	\$0.00	NO BID	\$66.78	\$6,678.00



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
	Arrow IO Needles Pink "Or Approved Equal" Brand: Product Number:	100	Each	NO BID	NO BID	\$66.78	\$6,678.00
127	Arrow IO Needles Blue "Or Approved Equal" Brand: Product Number:	100	Each	NO BID	NO BID	\$66.78	\$6,678.00
128	Covidien Micro Stream Filter Line Set 50/Case No Exception Brand: MEDTRONIC Product Number: BTM #174620	1 Case	Each	\$370.00	\$370.00	\$459.00	\$459.00
129	Covidian Adult-PDEI CO2 Samp Line Airway Adaptor 50/Case Brand: MEDTRONIC Product Number: BTM #174620	1 Case	Each	\$370.00	\$370.00	\$252.50	\$252.50
130	Pelican 1550 Case (w/foam, dividers, and lid insert) Brand: THOMAS EMERGENCY MEDICAL SOLUTIONS Product Number: BTM #682010Y	10	Each	\$221.00	\$2,210.00	\$332.47	\$3,324.70
	Tyvek 400 Trauma Sleeves 100/Case Brand: AIRGAS USA, LLC Product Number: BTM #749470	6 Cases	Each	\$84.00	\$504.00	NO BID	NO BID
	Curaplex® Yankauer Suction Stick 50/Case Brand: CURAPLEX BY BOUND TREE Product Number: BTM #16107	3 Cases	Each	\$15.50	\$46.50	\$17.22	\$51.66



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
133	Dermacea Abdominal Pads 5" x 9" 25/Box Brand: DUKAL CORP. Product Number: BTM #085590	6 Boxes	Each	\$2.25	\$13.50	\$1.48	8.88
	North American Rescue CAT Tourniquets Brand: NORTH AMERICAN RESCUE PRODUCTS Product Number: BTM #1880-13022	40	Each	\$24.00	\$960.00	\$21.29	\$851.60
135	Zoll RESQPODS "Or Approved Equal" Brand: Product Number:	500	Each	NO BID	NO BID	NO BID	NO BID
136	Curaplex® Vial Access Cannula Brand: BECTON DICKINSON Product Number: BTM #353367	200	Each	\$0.36	\$72.00	\$0.24	\$48.00
137	Curity 2" Conforming Stretch Gauze 96/rolls/case Brand: DUKAL CORP. Product Number: BTM #080702	3 Cases	Each	\$22.08	\$66.24	\$7.84	\$23.52
138	Curity 4" Conforming Stretch Gauze 96/rolls/case Brand: DUKAL CORP. Product Number: BTM #080704	3 Cases	Each	\$27.84	\$83.52	\$10.08	\$30.24
139	Curity 6" Conforming Stretch Gauze 96/rolls/case Brand: DUKAL CORP. 48/CS Product Number: BTM #080706	3 Cases	Each	\$26.88	\$80.64	\$20.00	\$60.00



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

ITB No. 20-101261 **BID TABULATION Price Opening** 8/13/2020

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

Technician:

Procurement Jenifer G. Chapital

Bound Tree Medical Henry Schen Company **Estimated** Description Unit **Unit Price Total Amount Total Amount** Item **Unit Price** Quantity Teleflex MAD Device (w/3cc syringe) 25/Box \$948.00 \$759.00 \$237.00 \$189.75 140 **Brand: TELEFLEX LLC** 4 Boxes Each Product Number: BTM #2170-14013 Curaplex® Physio-Control Multi-Function Defib Pads > 10 kg \$1,256.00 141 Brand: CURAPLEX BY BOUND TREE 80 Each \$15.70 \$13.33 \$1,066.40 Product Number: BTM #16383 Curaplex® Physio-Control Multi-Function Defib Pads < 10 kg 142 Brand: CURAPLEX BY BOUND TREE 50 \$15.45 \$772.50 \$13.33 \$666.50 Each Product Number: BTM #16384 **Diagnostic Equipment** Welch Allyn Sure Temp Plus 690 Therm 4ft cord, Oral w/well 143 Brand: WELCH ALLYN, INC. 25 Each \$81.83 \$2,045.75 \$252.16 \$6,304.00 Product Number: BTM #172893 Welch Allyn Probe Covers, Disposable 250 Bx/ 30 bx/ case 144 Brand: WELCH ALLYN, INC. 7500/CS \$300.00 \$3,000.00 \$268.20 \$2,682.00 10 Cases Each Product Number: BTM #2733-53175 Welch Allyn Spot Vital Signs NiBP, SpO2, Thermo, Pulse Rate 145 \$2,922.64 \$58,452.80 NO BID Brand: WELCH ALLYN, INC. 20 NO BID Each Product Number: BTM #2612-42014 **Pharmaceuticals (No Exceptions)**



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
146	Pfizer Morphine Sulfate 5mg/ml Single Dose Vial Brand: HIKMA PHARMACEUTICALS USA INC. Product Number: BTM #BA6125-25C	180	Doses	\$2.76	\$496.80	NO BID	NO BID
147	Westward Versed 5mg/1ml Single Dose Vial Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #2305-05	180	Doses	\$1.36	\$244.80	NO BID	NO BID
148	Westwood Fentanyl 100mcg/2ml Single Dose Vial Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #379094	180	Doses	\$1.40	\$252.00	\$2.65	\$477.00
149	Pfizer Ketamine 100mg/ml Single Dose Vial Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #2051-05	180	Doses	8.9	\$1,602.00	NO BID	NO BID
150	Pfizer Transemic Acid 1000mg/ml Single Dose Vial Brand: CARDINAL HEALTH-PHARMA Product Number: BTM #0166-41	90	Doses	\$14.37	\$1,293.30	7.74	\$696.60
151	B. Braun NaCl 0.9% Sodium Chloride 10 ml Flush 30/Box Brand: B. BRAUN MEDICAL, INC. Product Number: BTM #1921-13574	90 Boxes	Each	\$13.20	\$1,188.00	\$8.40	\$756.00
152	IMS Limited EPI 1:1000 30ml Multie Dose Vial Brand: CAPITAL WHOLESALE DRUG Product Number: BTM #0168-01	120	Doses	\$315.15	\$37,818.00	\$334.09	\$40,090.80



DEPARTMENT OF PURCHASING AND CONTRACTING

Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
153	Hickma Pharmaceutical Amiodarone 150mg/3ml Single DV Brand: FRESENIUS Product Number: BTM #0616-03	180	Doses	\$1.80	\$324.00	\$1.69	\$304.20
	IMS Limited EPI 1:10,000 1mg/10ml Single Dose Prefilled Syringe Brand: IMS LIMITED Product Number: BTM #373316	210	Doses	\$9.70	\$2,037.00	\$10.15	\$2,131.50
	Amphastar Atropine 1 mg/10ml Single Dose Prefilled Syringe Brand: IMS LIMITED Product Number: BTM #371006	150	Doses	\$11.00	\$1,650.00	\$7.61	\$1,141.50
156	Hospira Lidocaine 2% 100mg/5ml Single Dose Prefilled Syringe Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #0074490301	210	Doses	\$3.87	\$812.70	\$4.13	\$867.30
157	Patriot Haldol 5mg/1ml Single Dose Vial or Ampule Brand: CARDINAL HEALTH-PHARMA Product Number: BTM #0426-12	80	Doses	\$1.64	\$131.20	\$1.06	\$84.80
158	Hertitage Lasix 40 mg/ 4ml Single Dose Vial Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #6102-04	210	Doses	\$4.16	\$873.60	\$1.85	\$388.50
159	Amphastar Narcan 2mg/2ml Single Dose Prefilled Syringe Brand: IMS LIMITED Product Number: BTM #373369	150	Doses	\$35.26	\$5,289.00	\$38.16	\$5,724.00



Due Date

7/23/2020

ITB No. 20-101261 BID TABULATION Price Opening 8/13/2020

ITB Name: Emergency Medical Supplies (Annual Contract with 2 Options to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
160	Akorn Adenosine 6mg/2ml Single Dose Vial Brand: CARDINAL HEALTH-PHARMA Product Number: BTM #0542-02	210	Doses	\$2.29	\$480.06	\$3.13	\$657.30
161	Amphastar CaCl 13.6 mEq/10ml prefilled syringe Brand: IMS LIMITED Product Number: BTM #373304	90	Doses	\$10.88	\$979.20	\$9.37	\$843.30
162	Frasenius Kabi Magnesium Sulfate 5G/10ml Single Dose Vial Brand: FRESENIUS Product Number: BTM #064-11	150	Doses	\$2.21	\$331.50	\$2.25	\$337.50
163	Phizer Solu-Medrol 125mg Single Dose Vial Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #0409-0047-22	150	Doses	\$10.19	\$1,527.90	\$10.33	\$1,549.50
164	BPI Labs Inc Epi 1:1000 1mg/1ml Single Dose Vial Brand: BPI LABS, LLC Product Number: BTM #103-10	90	Doses	\$13.50	\$1,215.00	\$19.95	\$1,795.50
165	Gericare Baby Aspirin 81mg chewable tablets Brand: GERI-CARE Product Number: BTM #911316	180	Doses	\$0.02	\$3.60	\$0.025	\$4.50
166	Glenmark Nitro Tabs 0.4mg/SL tablet Brand: CARDINAL HEALTH-PHARMA Product Number: BTM #0418-24	210	Doses	\$0.74	\$155.40	\$0.16	\$336.00
167	Hospira Zofran 4mg/2ml Single Dose Vial Brand: PRFIZER INC. (HOSPIRA) Product Number: BTM #4755-02	90	Doses	\$0.83	\$74.70	\$0.39	\$35.10



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name: to Renew)

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
168	Aurobindo Zofran 4mg/tablet Brand: CAPITAL WHOLESALE DRUG Product Number: BTM #0390-10	300	Doses	\$0.18	\$54.00	0.05	\$15.00
169	Mylan Institute Thiamine 200mg/2ml Single Dose Vial Brand: FRESENIUS Product Number: BTM #371651	150	Doses	\$12.54	\$1,881.00	\$9.59	\$1,438.50
	Nephron Albuterol 2.5mg/3ml 25/Box Brand: NEPHRON PHARMACEUTICALS CORP. 600/CS Product Number: BTM #9501-25	20 Boxes	Each	\$72.00	\$1,440.00	\$3.44	\$68.80
171	Nephron Atrovent 0.5mg/2.5ml 25/Box Brand: NEPHRON PHARMACEUTICALS CORP. 25/CS Product Number: BTM # 9801-25	15 Boxes	Each	\$3.00	\$45.00	\$3.08	\$46.20
172	Novo Nordisk Glucagon 1mg Prefilled Syringe Brand: CARDINAL HEALTH-PHARMA Product Number BTM #7065-15	90 Doses	Each	\$338.89	\$30,500.10	\$368.78	\$33,190.20
173	Mylan EPI Pen (Adult) 0.3mg Auto Injector Brand: MYLAN SPECIALTY LP Product Number: BTM #2102-02	100 Doses	Each	\$185.50	\$18,550.00	\$101.69	\$10,169.00
174	Amneal EPI Pen (Pedi) 0.15mg Auto Injector Brand: CAPITAL WHOLESALE DRUG Product Number: BTM #1695-49	80 Doses	Each	\$155.31	\$12,424.80	\$101.80	\$8,144.00
175	Perrigo Instant Glucose 37.6G Oral Consumption Brand: LIFE NUTRITION LLC Product Number: BTM #662248	150 Doses	Each	\$1.21	\$181.50	\$1.26	\$189.00



Due Date

7/23/2020

Price Opening 8/13/2020 ITB No. 20-101261 **BID TABULATION**

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
176	Alvogen Toradol 60mg/1ml Single Dose Vial Brand: PFIZER INC. (HOSPIRA) Product Number: BTM #3795-01	90 Doses	Each	\$1.76	\$158.40	NO BID	NO BID
177	Westward Benadryl 50mg/1ml Single Dose Vial Brand: HIKMA PHARMACEUTICALS USA INC. Product Number: BTM #0376-25	110 Doses	Each	\$1.24	\$136.40	\$1.24	\$136.40
178	Precison Dose Tylenol (Acetaminophen) 160mg/5ml cups Brand: CARDINAL HEALTH-PHARMA Product Number: BTM #6738-70	300 Doses	Each	\$1.45	\$435.00	\$1.64	\$492.00
179	Amphastar Sodium Bicarb 50MEQ/50ml Prefilled Syringe Brand: IMS LIMITED Product Number: BTM #371035	140 Doses	Each	\$15.15	\$2,121.00	\$14.31	\$2,003.40
180	Amphastar Dextrose 50% 25G/50ml Prefilled Syringe Brand: IMS LIMITED Product Number: BTM #373301	140 Doses	Each	\$15.11	\$2,115.40	\$14.15	\$1,981.00
181	Baxtel Dopamine HCL 400mg/250 ml IV bag Brand: BAXTER HEALTHCARE-DMG Product Number: BTM #118-2B0842EA	80 Doses	Each	\$13.87	\$1,109.60	\$17.40	\$1,392.00
182	B Braun NaCl 100ml IV bag 24/case Brand: B. BRAUN MEDICAL, INC. Product Number: BTM #869503	6 Cases	Each	\$68.64	\$411.84	\$66.72	\$400.32
183	B Braun NaCl 500ml IV bag 24/Case Brand: B. BRAUN MEDICAL, INC. Product Number: BTM # 358001	6 Cases	Each	\$60.24	\$361.44	\$66.72	\$400.32



Due Date

7/23/2020

ITB No. 20-101261 **BID TABULATION Price Opening** 8/13/2020

Emergency Medical Supplies (Annual Contract with 2 Options ITB Name:

to Renew)

Procurement Jenifer G. Chapital Technician:

	Company			Bound Tree	e Medical	Henry	Schen
Item	Description	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount
184	B Braun NaCl 1000ml IV bag 12/Case Brand: B. BRAUN MEDICAL, INC. Product Number: BTM #7800-09	50 Cases	Each	\$29.76	\$1,488.00	\$33.36	\$1,668.00
185	B Braun Ringers Lactate 1000ml IV bag 12/Case Brand: B. BRAUN MEDICAL, INC. Product Number: BTM #357500	26 Cases	Each	\$30.12	\$783.12	\$33.36	\$867.36
Number of Bio	ds Received:		•		5		
LSBE Participa	tion Benchmark/GFE			LSBE -	20%	GFE - CPO	APPROVED
Mandatory Pr	e-Bid Meeting (Yes/No)			YE	S	Y	ES
Attendance at mandatory LSBE Meeting			YE	s	YES		
Separate Seal	eparate Sealed Price Schedule (Yes/No)			YES		YES	

NOTES - DETAIL JUSTIFICATION

Recommend Award to the lowest, responsive and responsible bidders: Boundtree Medical, LLC 5000 Tuttle Crossing Blvd., Line Item Nos. 1-6, 7-13, 15, 16, 17, 19, 20-23, 24-37, 38-41, 42, 43, 45-48, 49-51, 55, 57-61, 62, 64, 65, 66, 67-70, 71-74, 77-79, 81, 82-87, 89-94, 96-100, 102, 103, 106-109, 110-114, 115-118, 119-122, 123, 124, 131, 132, 134, 140, 141, 142, 143, 144, 145-152, 154, 156, 158, 159, 160, 162, 163-165, 167, 168, 170, 171, 172, 173, 175, 176, 177, 178, 181-185, and Henry Schein, Inc., 135 Duryea Road, Melville, NY 11747, Line Item Nos. 7-13, 14, 17, 18, 20-23, 38-41, 44, 49-51, 52-54, 55, 56, 57-61, 63, 65, 67-70, 75, 76, 80, 81, 88, 95, 101, 110-114, 119-122, 128-130, 133, 134, 136-139, 140, 143, 144, 153, 154, 155, 156, 157, 159, 161, 162, 166, 169, 170, 171, 174, 177, 179, 180, 181-185.

Uweport LLC and Medline Industries Inc. were deemed non-responsive for failure to attend at least one of the mandatory LSBE meetings, as listed on the cover page, Invitation to Bid Overview (page 3), and Invitation to Bid Procedures (page 6) 13(b) of the solicitation. McKesson Medical-Surgical Government Solutions, LLC was deemed non-responsible for failure to withdraw its exceptions.

Witness Signature: +1

Procurement Technician Signature: Jenifer Chapital